BL+2,720750L &

RECARBHBLEY

CERORE, ELGBRVBLEY

-

KIEB £EB TS BiEB
10100 JT— 29I = 25 /z J-=) 29I JT-b J- 29IA J-)b 1000
SIAIRIR SIZKIR SIAKIR SIAIKIR G
30 = BFH A %
]::;{‘_ll/ D0—ILH= ZUMBA ya—kEOIR ZUMBA A NeywoTpa | AYAYRAL L DO—ILH=E ZUMBA D0—ILH=
1100 =) (+368) 5= (INFRPHK) UNMRER) 45 UNVFAFHR) 11:00
EREHE =554 W YSIE TREHE BER2A I
30 — 130
N 57515 NEDS1 o TREHE Wb &5 — INETS1 = sl
12:00 12 10~ ] @%D) 1205N 75{/\_ '\ 12:00
U ﬁé?f#i?ﬁ 1215~ Dwzy
30 EEE),SJ/\%%%;‘( e POPEDR 30
UN&EE) 37
, (EiB) ,
1800 13:10~14:00 1800
IS5V 13:30~
SO i NS5 B e SO
, BEHEZA 22 2 241 I FyZEHR ,
14:00 1853 e T (N -6) \ 14:00
20 24 )\ yEIN (MARD FEERSVYT ba}%éfb 30
14:40~ D
15:00 S)=) 15.00
FyXEDZR
30 (4(@—6;{) FEERIIVT 30
o =< o o MARI A _
ol mime | TESETRY| L. |Feszesvy|  ERL |Fesresvy FEERIIVY T o
(@H~6HR) A (BH~6HR) A (BH~6HR) . A .

30 ?C‘BZB‘I’de — 30
ol e PSSR AR FEEAI ST Sk |Fesrrsyy FEER1IVY 16:30FC[)17:00,:24E] 1700
“ (I ~I)3) B (I ~I13) (W1 ~I)3) S S ?&*echsyd 30

INERLE FEERAZY NSt - NS4 —o =<

. = = FEBRIIVD = FEBRIIVD FEBRAIVT .

ool prpme= 2 ESEETC (R s I Qs
(IN3~1)\6) c (IN3~1)\6) C (IN3~1)\6) C C mEsRERP ! |

30 1830~ 30
1900 :\:yqué:fx 51_2_%2 El!" E[E] 1000

- wr = mr =T (MARD T¥—17207 *-u,-gt:‘ -

-2 -2 -2 -2 GRO—k~

20:00 20:00

30 < 30

mEBER
SN I-LI = N
21:00 [ \ [ f— A 774/\—H/‘y1 21:00
\ -] 304=110

30 5 5 30

22:00 — 2200




